1) (x*2+5x-6)*2*V(x*3+200)<=0

2) (x+1)V[(x+4)/(x+7)]<=0

3) V(12-x-x*2)/(2x-7) <= V(12-x-x"2) | (x-5)

4) V(2 + 3/(x+1))>=V(2/x)

5) 1/V(2-x) > 1/(x-1)

6) 1/V(x+1) > 1/(3-x)

7) V(20 + x) - V(9-x) <=3 (MHTepeCHbIN Npumep, rae He bepeTca 9-Ka B OTBET)
8) V(15+x) - V(5-x)>=2

10) (6x+1+V(1-2x))/(x+1) > 2

11) V(x+3) < V(x-1) + V(x-2)

12) V(x+3) + V(x-2) - V(2x+4)>0

13) V(5x-4) + V(3x+1) < 3

14) V(x*2+3x+2) - V(x*2-x+1) < 1

15) V(x*2-16)/V(x-3) + V(x-3)>5/V(x-3) (MHTepeCcHbIU npumep, rae He 6epéeTcs 4-Ka B OTBET)

16) V(x 4-2x72+1)>1-x




